UIL ACCOUNTING

State A-9904 (Spring 2000)
Group 1

For questions 1 through 12, write the identifying letter(s) of the correct account(s) to be debited and credited for each transaction on your answer sheet.

Some answers will include multiple accounts.  The order in which you write the identifying letters in an answer is not considered in grading.  However, all accounts in an answer must be correct in order for the answer to be correct.

	A.
	Cash in Bank
	E.
	Income Summary

	B.
	Common Stock ($25 par)
	F.
	Paid-In Capital in Excess of Par

	C.
	Dividends—Common
	G.
	Retained Earnings

	D.
	Dividends Payable—Common
	
	


The question numbers are listed in the appropriate debit and credit columns.
	Debit
	Credit
	Transaction

	1.
	2.
	Issued 1,000 shares of common stock at par.

	3.
	*4.
	Issued 2,000 shares of common stock at $30 per share.

	5.
	6.
	Declared a $100 per share cash dividend.

	7.
	8.
	Paid the dividends.

	9.
	10.
	Closed the Income Summary account (the corporation had a net income for the year)

	11.
	12.
	Closed the Dividends account.


Group 2

For questions 13 through 16, write the correct amount or number on your answer sheet.  Question numbers are indicated by the bold “Q#”.  (Note asterisks.)

	Plant Asset
	Months Owned First Year
	Original Cost
	Estimated Salvage Value
	Estimated Useful Life
	First Year’s Straight Line Depreciation

	X-Ray Machine
	6
	150,000
	15,000
	* Q# 13
	4,500

	Exam Table
	4
	10,000
	* Q# 14
	5 years
	500

	Medical Equip.
	8
	 Q# 15
	3,000
	7 years
	5,200

	Computer
	Q# 16
	3,000
	300
	3 years
	600
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Group 3

Use the following information to answer questions 17 through 20.  Write the correct amount on your answer sheet.  (Watch dates carefully.)

The Sheltie Corporation’s balance sheet on December 31, 1998 showed the following:

	Assets
	220,650

	Liabilities
	43,275

	Capital Stock-Common ($10 par)
	30,000

	Paid-In Capital in Excess of Par
	15,000


The company’s income statement for the twelve months ended December 31, 1999 showed the following:

	Revenue
	251,620

	Cost of Merchandise Sold
	150,972

	Expenses
	55,258


Sheltie Corporation’s general ledger and Statement of Stockholders’ Equity for the year ended December 31, 1999 indicated that during 1999,  500 shares of common stock had been issued @ $25 per share and that cash dividends declared and paid were $10,000.

Sheltie Corporation’s total liabilities on December 31, 1999 were $28,460.

17. What is the net income for 1999?

18. What is the 12-31-99 balance in Capital Stock-Common?

*19. What is the 12-31-99 balance of Retained Earnings?

**20. What is the amount of total assets as of 12-31-99?
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Group 4

The incomplete financial statements for Chihuahua Corporation appear below.  Compute the missing amounts and answer questions 21 through 25 by writing the correct amount on your answer sheet.  Assume that stockholders’ equity had no overall change from the beginning of the year to the end of the year.  

Additional information needed:





Current ratio 2.5 to 1





Quick ratio 2 to 1





Gross profit percentage 40%





Return on sales 5%





Return on common stockholders’ equity 4%

Chihuahua Corporation

Balance Sheet

December 31, 1999

Cash in Bank
  __________
Current Liabilities
  _________


Accounts Receivable
            56,000
Long-Term Liabilities
        175,000

Merchandise Inventory
  __________
Stockholders’ Equity
  _________

Prepaid Insurance
              5,000

Property, Plant & Equip.
  __________

                                                                        
Total Liabilities and

Total Assets
  $      900,000       Stockholders’ Equity
  $   900,000
Chihuahua Corporation

Income Statement

For the Year Ended December 31, 1999



Net Sales
  _______________



Cost of Merchandise Sold
  _______________



Gross Profit on Sales
  _______________



Total Operating Expenses
  _______________



Net Income
    $         25,000
21. What is the amount of Cash in Bank?

 *22. What is the amount of Property, Plant, & Equipment?

23. What is the amount of Current Liabilities?

24. What is the amount of Net Sales?

25. What is the amount of Gross Profit on Sales?
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Group 5

Refer to the data in Table 1 on page 11. Answer questions 26 through 33 by writing the identifying letter of the best response on your answer sheet.

26. Net sales equal


A. $948,260

D. $974,120


B. $955,470

E. $997,420


C. $966,910

27. Net purchases equal


A. $567,371

D. $629,379


B. $568,956

E. $663,781


C. $598,375

28. Cost of merchandise sold is equal to


A. $379,304

D. $599,960


B. $565,786

E. $663,781


C. $568,956

29. Total operating expenses equal


A. $  62,385

D. $224,687


B. $220,812

E. $227,102


C. $223,227

F. $280,522

30. Income from operations is equal to


A. $124,642

D. $178,062


B. $158,492

E. $974,120


C. $161,827

31. Total other revenue is equal to


A. $  7,210

D. $   974,120


B. $18,650

E. $1,023,280


C. $25,860

32. Total other expenses is equal to


A. $  3,335

D. $227,102


B. $  6,290

E. $280,522


C. $59,710

*33. Net income before federal income tax is 


A. $124,642

D. $184,352


B. $158,492

E. $379,304


C. $178,062
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Group 6

Refer to the data in Table 2 on page 11 regarding the Big Dog Co.  Write the identifying letter of the best answer for questions 34 through 46.

34. The entry on March 18, 1999 would include


A. a credit to Notes Payable for $60,000 plus the interest on the note for 180 days


B. a debit to Notes Receivable for $60,000


C. a credit to Notes Payable for $60,000


D. a debit to Cash in Bank for $60,000


E. both C and D

35. The maturity date of the note payable is


A. March 18, 1999

E. September 14, 1999


B. June 30, 1999

F. October 1, 1999


C. September 12, 1999
G. March 14, 2000


D. September 13, 1999
H. March 18, 2000

36. The face value of the note payable is


A. $60,000 plus interest for 180 days


B. $60,000 plus interest from the date of borrowing through the end of the fiscal year


C. $60,000 plus interest for 90 days


D. $60,000


E. $7,875

37. The maturity value of the note payable is


A. $7,980

D. $61,430


B. $60,000

E. $62,475


C. $61,045

F. $64,950

38. The entry on May 25, 1999 for the transaction with Little Pup Co. would


include a


A. debit to Sales


B. credit to Allowance for Uncollectible Accounts


C. debit to Notes Receivable


D. debit to Accounts Receivable


E. debit to Notes Payable


F. credit to Notes Payable

39. The maturity date of the note receivable is


A. May 25, 1999

D. July 24, 1999


B. June 24, 1999

E. August 23, 1999


C. June 30, 1999

F. November 1, 1999
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40. The entry on June 30, 1999 to accrue interest on the note payable would include



     Debit/Credit
     Account


Amount

A.

debit

Interest Expense           
$2,475


B.

credit

Interest Payable               
$63


C.

debit

Interest Receivable          
$1,430


D.

debit

Interest Expense              
$1,430


E.

credit

Interest Income                 
$1,430


F.

debit

Interest Receivable          
$63

41. The entry on June 30, 1999 to accrue interest on the note receivable would

       include



     Debit/Credit
     Account


Amount

A.

debit

Interest Expense           
$2,475


B.

credit

Interest Payable               
$63


C.

debit

Interest Receivable          
$105


D.

debit

Interest Expense              
$1,430


E.

credit

Interest Income                 
$63


F.

debit

Interest Receivable          
$42

*42. On June 30, 1999 immediately after closing entries have been posted and before


any entries in July, the balances in these three accounts are:



  
     Note

Interest
Interest

          
   Payable

Payable
Expense

A. 
  $60,000

$1,430
 $1,430


B. 
  $60,000

$2,475
 $1,430


C. 
  $60,000

   zero
   
 $1,430


D. 
  $60,000

$1,430
   zero


E.

  $61,430

   zero
              zero


F.

  $61,430

$1,045
 $1,045

*43. On June 30, 1999 immediately after closing entries have been posted and before


any entries in July, the balances in these three accounts are:




     Note

Interest
  Interest



Receivable
        Receivable
  Income

A. 
   $7,938

  zero
              zero


B.

   $7,875

  $63        
   zero


C.

   $7,875

  zero
              zero


D.

   $7,938

  $42       
   $42


E.

   $7,875

  zero
              $63


F.

   $7,875

  $105      
   $42
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**44. On July 1, 1999 immediately after reversing entries have been posted, the

      balances
in these accounts are:



   Interest

     Interest

      Interest

   Interest

 
Receivable

     Payable

     Expense

   Income

A. $63 debit

$1,430 credit

        zero

      zero


B.       zero    

         zero

$1,430 debit

$63 credit


C.       zero

         zero

$1,430 credit

$63 debit


D. $63 debit

$1,430 credit

$1,430 debit             $63 credit

45. On the maturity date of the note receivable, the entry to record the receipt of cash


and the fulfillment of the promissory note would include a:


A. credit to Interest Income for $105




B. debit to Note Receivable for $7,875



C. credit to Interest Income for $42


D. credit to Interest Receivable for $42


E. credit to Interest Expense for $1,045

*46. After the note payable has been repaid and the note receivable payment is 


received, the balances in these accounts are:



    Interest Expense  
  Interest Income

A. 
$1,430


$63


B. 
$2,475


$105


C. 
   zero



 zero


D. 
$1,045


$42


E. 
$42



$1,045

Group 7

For questions 47 through 53, indicate the normal balance side of the following accounts using the code:  DR=debit  CR=credit

47. Unearned Fees




48. Interest Receivable

49. Preferred Stock

50. Investments

51. Paid-In Capital in Excess of Par

52. Retained Earnings

53. Dividends--Common
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Group 8

Refer to the information regarding Petsupply, Inc. provided in Table 3 on pages 12 through 14.  To indicate the account debited or credited, use the account number as shown on the work sheet on page 15.  For questions 54 through 74, write the correct amount or account number on your answer sheet.

    Test

Question #
     Adjustment #

Question To Be Answered

54.
#1
What account is credited?


55.
#2
What account is debited?


56.
#3
What is the adjustment amount?


57.
#3
What account is debited?


58.
#3
What account is credited?


59.
#4
What account is credited?


60.
#5
What is the adjustment amount?


61.
#8
What is the adjustment amount?


62.
#8
What account is debited?


63.
#8
What account is credited?


64.
#9
What is the adjustment amount?


65
#9
What account is credited?


66
#10
What is the adjustment amount?


67
#10
What account is credited?


68
#11
What is the adjustment amount?


69
#11
What account is debited?

 What amount should appear on the 1999 income statement prepared by the accountant for…

*70. Office Supplies Expense?

   *73. Sales?

*71. Insurance Expense?


***74. Net Income?

*72. Purchases?
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Group 9

For questions 75 through 80, write the identifying letter of the best response on your answer sheet.

75. Mutt Company uses the allowance method for estimating bad debts expense.  At


the end of its first year of operations, December 31, 1999, Mutt Company’s book 


value of accounts receivable was $800,000.  During 1999, Mutt recorded bad debt 


expense of $65,000 and wrote-off as uncollectible accounts receivable of $36,000.  


What amount should Mutt report on its balance sheet on December 31, 1999, as 


Accounts Receivable (gross, before considering the Allowance account)? 

A. $771,000     B. $800,000     C. $829,000     D. $836,000     E. $901,000

76. The accrued amount in a revenue account represents an amount that is



Earned
Collected

A.
    yes

      yes


B.
    yes

      no


C.     no
 
      yes


D.     no

      no

77. Stray Dog, Inc. estimates its gross profit on net sales to be 38%.  What is the 


estimated cost of the merchandise inventory on June 30 based on the following?




June 1
Merchandise Inventory………. $84,000




June 1-30
Net purchases………………… $98,860




June 1-30
Net sales………………………. $165,500


A. $62,890     B. $69,487     C. $80,250     D. $84,000     E. $102,610    F. $113,373

**78. Great Dog Company’s employees had the following earnings information at the 


close of the April 30 payroll period:  Earnings      

     Earnings For






  
          Jan - Mar                    
 April


Beethoven…………………………$4,650…………………. $
2,000



Goofy…..…………………………….5,700………………….
1,600



Scooby Doo…...…………………….5,500………………….  
3,200



Benji………………………………….8,200…………………..   
1,500



Lassie………………………………13,800………………….   
2,200


Great Dog Company’s payroll tax expense on each employee includes:  social 


security of 6.2% on the first $72,600 earned; medicare of 1.45% on all earnings; 

federal unemployment taxes of 0.8% on the first $7000 earned; and state unemployment taxes of 2.7% on the first $9,000 earned.  What is the total payroll 

tax expense for
the month of April?  (Round to nearest cent.)

A. $243.60

D. $1,170.75

B. $803.25

E. $1,374.75

C. $1,046.85

F. $5,073.53
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*79. The Pink Poodle Company began an accounting period and purchased an item as 


follows:

Jan 1

Beginning inventory…… 100 units at $10 = $   1,000





Mar 9

Purchased……………… 500 units at $11 =      5,500





July 6

Purchased……………… 300 units at $13 =      3,900





Dec 5

Purchased……………… 100 units at $14 =      1,400









     1,000                        $11,800


The company consistently sold the item for $20 each during the year.  If based on 


FIFO, what is the cost of the ending inventory of 110 units and the gross profit 


amount for the year:



 Ending Inventory at Cost
       Gross Profit

A.       
   $1,530



$10,270


B.       
   $1,530



$  7,530


C.       
   $1,298



$  7,298


D.

   $1,110



$  7,110


E.
      
   $1,110



$10,690

**80. An asset was purchased on January 1, 1997 with a cost of $45,000, a salvage 


value of $5,000 and an estimated useful life of 5 years.  The company’s fiscal year 


end is December 31.  Which of the following is true?






     2000



        Accumulated



      2000
          Depreciation
          Accumulated        Depreciation

           Depreciation             Expense              Depreciation      Double-Declining 



   Expense
       Double-Declining      Straight-Line            Balance



Straight-Line              Balance               @12-31-00            @12-31-00

A.     $9,000

     $3,456

   $36,000

$34,816


B.     $8,000

     $3,456                   $32,000

$34,816


C.     $8,000

     $3,888

   $32,000

$39,168


D.     $9,000

     $   832

   $40,000

$40,000

This is the end of the exam.  Please hold your answer sheet and test questions until the contest director calls for them.
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TABLE 1

(for questions 26 through 33)

The following items appear on the classified income statement of Cocker Spaniel, Inc. for the year ended September 30, 1999.

	Merchandise Inventory

 October 1, 1998
	96,410
	Selling Expenses
	158,427

	Merchandise Inventory

 September 30, 1999
	94,825
	Administrative Expenses
	62,385

	Purchases
	598,375
	Loss on Plant Assets
	2,415

	Sales
	997,420
	Gain on Plant Assets
	18,650

	Purchases Returns & Allow.
	14,539
	Interest Expense
	3,875

	Sales Returns & Allow.
	29,680
	Interest Income
	7,210

	Purchases Discounts
	16,465
	Federal Income Tax Expense
	53,420

	Sales Discounts
	19,480
	
	


TABLE 2

(for questions 34 through 46)

Big Dog Company has a fiscal year end of June 30.  The company uses the accrual basis of accounting and utilizes reversing entries.  Adjusting and closing entries are prepared only at the end of the fiscal year.

On March 18, 1999, Big Dog Co. borrowed $60,000 from the bank.  (The bank calculates interest using 360 days in a year.)  The note was interest-bearing for 180 days at 8.25%.

On May 25, 1999, Little Pup Co. indicated that at this time they would be unable to pay the $7,875 owed to Big Dog Co. on account.  The Little Pup Co. issued an interest-bearing promissory note to Big Dog Co. for 60 days at 8%.  (Use a 360-day year for interest computations.)

At the end of the fiscal year these are the only two notes in which Big Dog Co. is involved.

	Calendar Reference

	Jan
	31
	
	July
	31

	Feb
	28
	
	Aug
	31

	Mar
	31
	
	Sept
	30

	Apr
	30
	
	Oct
	31

	May
	31
	
	Nov
	30

	June
	30
	
	Dec
	31
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TABLE 3

(for questions 54 through 74)

The trial balance for fiscal year end December 31, 1999 for Petsupply, Inc. appears on the work sheet on page 15.  (The work sheet is for your benefit.  It will not be reviewed by the graders.  Be sure to write all your answers on your answer sheet.     (WATCH DATES CAREFULLY.)

In 1998 Petsupply, Inc. had a full time accountant who kept the general ledger on the accrual basis of accounting.  In an effort to cut costs, the accountant was terminated and a part-time bookkeeper was hired in early 1999.  The new bookkeeper did not fully understand accrual basis accounting and therefore made many entries on the cash basis of accounting.

The 1999 financial statements prepared by the bookkeeper had several misstatements that were evident to the owner.  Petsupply, Inc. rehired the original accountant to prepare 1999 end-of-year adjusting and correcting entries and to prepare 1999 accrual-based financial statements.  The adjusting and correcting information is listed below. 

Consider these twelve (12) adjustments in the order listed.  Do not combine any of the adjustments unless instructed to do so.   (To simplify this problem, some items like payroll taxes were purposely omitted.)

Adjustment


#1

The bookkeeper failed to reconcile the accounts receivable 




subsidiary ledger to the general ledger.  In fact, all collections on 




account in 1999 ($12,490) had been credited to Sales.  (Accounts 




Receivable charges were all recorded correctly.)  After this 




correcting entry, the receivable ledger and Accounts Receivable 




controlling account were in agreement again.


#2

The accountant prepared the Aging of Accounts Receivable and 




immediately noticed an account that has been uncollectible for over 




a year.  This account in the amount of $895 due from Mom and Pop’s 




Pet Store should be written-off now.


#3

The Aging of Accounts Receivable was revised for the write-off of 




the Mom and Pop’s Pet Store account.  The Aging now results in an 




estimate of uncollectible accounts in the amount of $2,645.


#4

The amount in Office Supplies on the trial balance represents only




office supplies on hand on January 1, 1999.  This is because the 




bookkeeper posted all 1999 purchases of office supplies directly to 




the Office Supplies Expense account.  The accountant recorded an 




entry to correct this posting error.
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TABLE  3  continued


#5

The bookkeeper took a physical inventory of office supplies ($3,070) 




on 12-31-99 but never adjusted the accounts.  The accountant 




prepared the entry.


#6

The amount in Prepaid Insurance on the trial balance represents the 



portion of the 12-month insurance premium purchased on August 1, 



1998 for $4,800 that was unexpired as of 12-31-98.   The bookkeeper 




had ignored the necessary adjustment for expired insurance




originally purchased in 1998.  The accountant made the adjustment 




at this time.


#7

When the insurance renewal was paid on August 1, 1999 for $5,520 




(prices went up) for the 12-month period beginning August 1, 1999, 




the bookkeeper fully expensed the purchase of insurance.  For 




clarity, the accountant chose to correct this error before determining 




the usual end-of-year adjustment.


#8

The accountant now recorded the adjustment required on 12-31-99 



for Prepaid Insurance and Insurance Expense.


#9

A company was hired to take a physical inventory of merchandise as 




of 12-31-99 which was $85,450.  The bookkeeper did not use this 




information (Merchandise Inventory on the trial balance is the 




inventory as of 12-31-98), so the accountant made the required 




adjustment.


#10
The bookkeeper had made no entries for depreciation expense.  The 




Equipment and Store Fixtures account as of 12-31-98 (prior year) 




includes the following.  The company uses the straight-line method.




Petsupply, Inc. purchased a laser printer on 9-10-99 for $2,350 with 




an estimated salvage value of $250 and life of 5 years.

	Asset

Description
	Date

Bought
	Original

Cost
	Estimated

Life in Years
	Salvage Value
	Accum.

Depr.

	Store Fixtures
	01/05/90
	110,000
	10
	10,000
	90,000

	Cash Registers
	01/08/90
	5,000
	5
	750
	4,250

	Computer
	07/28/98
	4,000
	3
	400
	1,500
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TABLE   3  continued


#11
Accounts Payable on the trial balance represents only the purchases 




of merchandise made in 1998 that were owed as of 12-31-98.  When 




all of these invoices were subsequently paid in 1999, the bookkeeper 




debited Purchases.  The bookkeeper also did not record the invoices 




for purchases of merchandise owed as of 12-31-99 in the amount of 




$36,410.  The accountant decided to record the correction and 




adjustment in one combined net entry.


#12
Occasionally, customers will order unique merchandise that 




Petsupply, Inc. does not normally keep stocked.  Because of the risk 




involved with these special orders, Petsupply, Inc. requires that 




customers pay a deposit or pre-payment to Petsupply, Inc.  A review 




of the special orders for which merchandise had not been received 




as of 12-31-99 reveals that three customers made deposits in 




December 1999 for a total of $2,900.  The bookkeeper had recorded 




these deposits as sales.
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	Petsupply, Inc.

	Work Sheet

	For Year Ended December 31, 1999

	Acct
	Account Title
	Trial Balance
	Adjustments
	Income Statement
	Balance Sheet

	#
	
	Debit
	Credit
	Debit
	Credit
	Debit
	Credit
	Debit
	Credit

	104
	Cash in Bank
	30,610
	
	
	
	
	
	
	

	120
	Accounts Receivable
	43,860
	
	
	
	
	
	
	

	125
	Allow. for Uncollect. Accts.
	
	1,220
	
	
	
	
	
	

	130
	Office Supplies
	2,635
	
	
	
	
	
	
	

	135
	Prepaid Insurance
	2,800
	
	
	
	
	
	
	

	140
	Merchandise Inventory
	80,675
	
	
	
	
	
	
	

	150
	Equipment & Store Fixtures
	121,350
	
	
	
	
	
	
	

	155
	Accum. Depr.— Eq. & Fixt.
	
	95,750
	
	
	
	
	
	

	210
	Accounts Payable
	
	28,620
	
	
	
	
	
	

	230
	Unearned Customer Deposits
	
	
	
	
	
	
	
	

	320
	Capital Stock
	
	50,000
	
	
	
	
	
	

	325
	Retained Earnings
	
	65,523
	
	
	
	
	
	

	350
	Income Summary
	
	
	
	
	
	
	
	

	410
	Sales
	
	251,845
	
	
	
	
	
	

	510
	Purchases
	138,858
	
	
	
	
	
	
	

	610
	Salaries Expense
	50,140
	
	
	
	
	
	
	

	620
	Depreciation Expense
	
	
	
	
	
	
	
	

	640
	Insurance Expense
	5,520
	
	
	
	
	
	
	

	650
	Office Supplies Expense
	4,910
	
	
	
	
	
	
	

	660
	Bad Debt Expense
	
	
	
	
	
	
	
	

	670
	Rent Expense
	11,600
	
	
	
	
	
	
	

	
	Subtotals
	492,958
	492,958
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	


